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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in English language. Candidate can
answer in English language only.
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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PART ONE

(Answer all the questions; each question

1.1

1.2

1.3

carries ONE mark)

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein.
(1x10)

Which of the following is the use of id()
function in python ?

(A) Id returns the identity of the object

(B) Every object doesn't have a unique
id

(C) Both of the above

(D) None of the above

Using on categorical data will

produce similar output to a Series or
DataFrame of type string.

(A) .desc()

(B) .describe()
(C) .rank()

(D) .dataframe()

Assume, you are given two lists :
a=11,2,3,4,5],b=1[6,7,8,9]. The task is
to create a list which has all the elements
of a and b in one dimension. Output :
a=11,273456,728, 9]

Which of the following option would you
choose ?

(A) a.append(b)
(B) a.extend(b)
(C
(D

) Any of the above
)

None of the above

1.4 You have built a machine learning model

1.5

1.6

1.7

that you wish to freeze now and use later.
Which of the following command can
perform this task for you ? Note : Pickle
library has been imported as pkL

(A) push(model, “file”)
(B
(
(

~—"

save(model, “file”)
C) dump(model, “file”)

D) freeze(model, “file”)

Set makes use of
Dictionary makes use of
A) keys, keys

B

~—"

(
( key values, keys
(C) keys, key values
(D) key values, key values

Which of the following lines of code will
result in an error ?

A) s={abs}
B

~—

(
( s={4, ‘abc’, (1, 2)}
Q) s={2, 2.2, 3, 'xyz’}
(D) s={san}

Which of the following operation works
with the same syntax as the analogous dict
operations ?

A)  Getting columns
B) Setting columns
C) Deleting columns

(
(
(
(D) All of the above
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1.8

1.9

Point out the wrong statement.
(A) A DataFrame is like a fixed-size dict
in that you can get and set values by
index label

Series can be passed into most
NumPy methods expecting an
NDarray

A key difference between Series and
NDarray is that operations between
Series automatically align the data
based on label

(D) None of the above

What is the correct syntax of destroy in
tkinter ?

(A) destroy(object)
(B) object.destroy()
(C) object(destroy)
(D) delete(object)

1.10 The correct way to draw a line in canvas

tkinter ?

line()
canvas.create_line()
create_line(canvas)

None of the above

2.1

2.2

2.3

24

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,
following instructions therein. (1x10)

A lambda form in python does not have
statements as it is used to make new
function object and then return them at
runtime.

A Pearson correlation between two
variables is zero but, still, their values can
be related to each other.

NDarray is also known as the alias array.

Just like lists in python, NumPy arrays can
also be sliced.

stringlength() is a predefined Python
function is used to find the length of string.

Pandas consist of an integrated group by
the engine for transforming and
aggregating data sets.

The panel is a container for Series, and
DataFrame is a container for DataFrame
objects.

mainloop() is an infinite loop used to run
the application, wait for an event to occur,
and process the event till the window is
not closed.

Tkinter provides various methods to
perform multithreading in python.

draw_shell(G, keywords) : This gives
circular layout of the graph G.
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3.  Match words and phrases in column X with the closest related meaning/word(s)/phrases
in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)

X Y

Unsupervised machine learning

3.1 . A axisartist
algorithms
A collection of functions and objects for .

3.2 ) L. B bind
creating or placing inset axes.

3.3 | Includes a derived Axes implementation C constant
Space ticks logarithmically from min to

3.4 D | LogLocator

max.

Containers that hold information which
3.5 E K-means
cannot be changed later

3.6 | Core algorithm for building decision tree F axes_gridl.inset_locator
3.7 | Numpy in the Python provides the G | wm
3.8 [ Communicate with window manager H column_stack
3.9 | associates Tcl scripts with X events I grid
3.10 | Geometry manager that arranges widgets | J List
K Apriori
L ID3
M | Array
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the

list below. Enter your choice in the “OMR” answer sheet attached to the question

paper, following instructions therein. (1x10)
Principal Component Analysis
A. B. |Spinbox C. |Entry Widget
D. |[scatter(),plot() E. |column_stack F. |size, value
G. |arange H. |plot(),scatter() | I. |Union
J. |pltcla() K. |ix_ L. [valuesize
M. |Alpha()
4.1 To create sequences of numbers, NumPy provides a function analogous to
range that returns arrays instead of lists.
4.2 function can be used to combine different vectors so as to obtain the result
for each n-uplet.
4.3 function is used to stacks 1D arrays as columns into a 2D array.
4.4 Data structures in Pandas can be mutated in terms of but not of
4.5 will happen to the indexes when any operations are done to unaligned
series.
4.6 The Axes is the area on which the data is plotted with functions such as
and ___ .
4.7 function is used to clear an axis.
4.8 is used to create input fields in the GUI to take in textual input.
4.9 is like an entry field, except it lets us select from a fixed number of values.
4.10 is an unsupervised, non-parametric statistical technique primarily used

for dimensionality reduction in machine learning.
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PART TWO

(Answer any FOUR questions)

5. (a)
(b)
(©)
6. (a)
(b)
7. (a)

Write the difference between data
science and machine learning in
terms of definition, role, and scope.

What is logistic regression ?

What advantages do Numpy Arrays
offer over (nested) Python Lists ?

(5+5+5)

Write a NumPy program to
compute the mean, standard
deviation, and variance of a given
array along the second axis.

Sample output:
Original array: [0123 4 5]
Mean: 2.5
std: 1
variance: 2.9166666666666665

What is the difference between
tuples and lists in Python ?

(10+5)

Name a few libraries in Python used
for Data Analysis and Scientific
Computations.

What is Python Pandas ?
What is the application of Pandas ?

What are different types of Data
structures in Pandas ?

What are the different ways in
which a DataFrame can be created
in Pandas ?

(3+3+3+3+3)

8. (a)

The sales of a company (in million
dollars) for each year are shown in
the table below.

x (year)

2005 | 2006 2007 | 2008 [ 2009

y (sales)[ 12 | 19 | 29 [ 37 | 45

(i)  Find theleast square regression
liney = ax + b.

(i) Use theleastsquares regression
line as a model to estimate the
sales of the company in 2012.

Write the difference between
Supervised and Unsupervised
Learning. (10+5)

Write a program to plot sin and cos
graph using numpy and matplotlib,
as shown in figure 1.

1.00 A
0.751
0.50 1
0.251
0.00 {
—0.25 1
—0.50 1
—0.75 1
—1.00

(b)

-3 -2 -1 0 1 2 3

Figure-1

How can you check if a data set or
time series is Random ? (10+5)

-00o0-
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